EARIVRTFaTINT 77— RBFHE PEH AR
1B BTV 7 (7/150: 1)

Pifem — A2 RO BRI N —2 T T

2025527 A 17HOR)

@ 24—h T4 B4 A, B4 @ A=} w4 B ®EA, B,
W | TR | TR | TR | TR — 2 W | TR | TR | TR —2 | TR —2
1| 7200 AN N N il e | EE | 7200 ot A DR SR |[E FIK |R% (B
N RO P =VN P3N 7Y 4RV FHED R PA=YN
o | 7:07 % H Rt O FEAS PR [T 2 | 707 £ UNIIRESR %f/z R | = R A
PR 44 17 FI3AVN AEERISNE |4l R FHED R N
s | 715 R AN | B BRE B B SR B0 s | 715 B ESC O [KE B LW F— R ®E
N PN 4Rk 2 R LRGN |4 R I e NE
| 729 L1 Gk 1 RH R |KRE Kk s | 799 ik FOA|MEE SR | E B |EHE A
7YY FI3AVN 4 4R HERIEE |4 R 7YY 417 Rk
s | 7:30 N R B2 % | RME AR AF s | 7:30 gk BT | RE R Ak sEtl e &
7YY 41k 4 GHED R 4R 7Y LRGN |4 R
6 | 737 K 3k PR DU | T3E HA 80K FER 6 | 7:37 AR KD BEE (|2 S | R BE
7YY 41k 4 FHED R 4R 7y LRGN |4 R
7:45 G- S S 7:45 B -
7 | 7.5 FE KHE K+t %Rz |BRIE 7 | 759 WiIRG Zez |00 EE |EE BERE P ER
7y 4 4T R RO & B 7Y AEBRIEE | A EEE
s | 8:00 il ER B BT | FE g |F)) s s | 800 =R o I oY= T N 77 N S I R
7y 4 41 R RO & B 7Y AEBIEE | AEEE
o | 807 B 7 HAROKR—  |FYRMER] | =06 FEE o | 8:07 W |[RB fET [BEH M (xR K
4T R N 4 R 40 R IA 4 R E A PHED R P /N
0l 815 G W R i s A 0| 8:15 JIIH (?Hg R e @N sk |ILAE E
4T R 4 R IA 4 R & B RO P /N
1| 8:99 i HERD | BREE (DR R AR B 1| 899 AN AL | ILAS R |[fEE /S |AH EE
41 R 4 B i R PN 4 R & B RO P /N
2] 8:30 A R R R | Rm e R Eh 12| 8:30 B A | AN AR #i | Rk R
4T R 4 B 4 R PN 4 R & B PHED R P /N
8:37 I S = | 8:37 - S L |
13| 845 VR s o dgk |RE LR BT Al 3| 845 TniE & SEUH ERT | AR R
4, R Ay R P /N 7 41 Rk FHED 7YY 415 Rk
| 859 IK PR SR & |R G %kﬁﬂ # | 852 R FEFE E%JII H— P N
4, R & RIEHE | AR 7YY 41 Rk FHED 415 Rk
5| 9:00 LR E— R EE | REE || e 5] 9:00 hs FEE | B R |k NI
FHEO R & RIEHE | AR 41k 4R P NG HERIEE |/
6| 9:07 AR ] L Ve R | R 6| 9:07 Kl #E7] | R B0 |fiy s TR fE—RR
4 ZERIENE  |PHEOZ 2 R 4RV e N SRR /M
| 9:15 B s EE EE | HEAL |NER RE 7| 9:15 FEWE VB — | SRR L |RIE ROL |
FER A AN | RO I 4 i R IR i A Ay~ [FHEO Fe NG 27N T 4=
8| 9:9 AL yERE 3R |FR 90 KB B 18| 9:99 JUN TEME | FH BIE | B BEIT RS
HER A AN [ 27000 74— [/ s 4 i | Ay~ (4 R e NG N
9:30 G- = 9:30 OB O M
10| 9:37 LA 2R |38 AE (AR CE |4 Tl 10| 9:37 HA —E |HLARE |ME i |t R
HiER A AN | RRbk A 7YY N B H AN [ 4 B I
2| 9:45 Sl ZE | HHEEY |JRE 58 e | 20 | 9:45 T i | AN bﬂf ot AR SR
F H AN |44 i R gt A AN A ERIAE (7)Y & B
21| 9:59 el Fia | K0 HHOEX A b 21| 9:59 R RRE R BB | R | R =
4T R 7y VAy=YiN N EeY YN 4 R 4 R AEBINE  |FEOR
2 | 10:00 Hkf RsE |IUF SRR | B R |FRA FiE 22 | 10:00 AR WL KA Bk A HREE B A
41 R EHA HEBIAE |4 HEE AEBRIEE | AR ATV TA=IN | B R
2 | 10:07 RE Eitﬁfi LG |8 f%k IR EE 23 | 10:07 R e i s FE IR ﬁ i H g*ﬁ
4T R ARG |4 HEE B 4 BRI 4t B 4 R
SIMAE 178 A Yz T4 o |48 EIFHISRT




